Algebra2  Review Test #1 Fall 2015

Sections: 1-3 to 1-5, 2-1 to 2-3, 2-5, and 7-6 )

1. Write the equation of the line that passes through the two points given below. Give your answer in
Slope-Intercept form. Points: (6,-1)&(-9,-11)

Solve for the variable indicated. State restrictions on the the variables.
2. O(M-Y)+K=R  SolveforM 3. —C—}—%—;—’i+E= G  Solve forH

4. XJ-TB = CQ+AB Solve forB

Solve each inequality.
5.9-3y+6+y <21 6. 6(R-5)+40>4R-9+2R~-1

7. —4x+13+6x<2(x-5)+8

Sate the solution to eac compound inequality. Give your answer in the simplest form possible.

8. x>12 OR x=10 9. y<3 AND y>6
10. m > -1 AND m<5 11. H<2 AND HZS
12. ¢ >4 OR c<8 13. M< 0 OR M2=22
For 14 to 17, does each represent a function?
14. (433)5 (33“6)7 (8:2)3 (4a1) 15 (-I:S)s (235)3 (359)3("‘790)
16. 17.
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18. State the Domain and Range of the relation in Problem 14.

19. State the Domain and Range of the relation in Problem 17.

20. Write the equation of the line that passes through each pair of points in the form specified, if any.
a) Both Point-Slope and Slope-Intercept Form (2,17)&(-1,5)

b) (3,-5)&(3,7) c) (-2,-4)&(5,-4)

21. Use this givenline: y=4x-9
a) Write the equation of a line that is parallel to this line and passes through the point (-2,3)

b) Write the equation of a line that is perpendicular to this line and passes through the pomt (8 l)



Solve each.
22, [4x-54+1 =19 23. x+7]>20 24. 2x-7|< 11 25 x+5|=-2x+1

Use these functions for the 26-31:

fx) =x-3 g(x) = dx+7 h(x)=—2x—x_f—61— k(x) = x* - 2x
26. Find g(h(2)) 27. Find flk(-5)) 28. Find k(A(7))
29. Find k(f{x)). Simplify as much as possible. 30. Find h(g(x)). Simplify as much as possible.

31. Find g(h(x)). Simplify as much as possible.

32. Does each graph represent Direct Variation?

y y

a) b) c)

33. Is each table below an example of direct variation?
If yes, state the variation constant and write a direct variation equation.

X Y X |y x|y
-617.5 ~3]-7.2 2|15

a) |4 |-5 b) |5 |12 c) 1420
10 8 19.2 6 |25

14| -17.5 18 ]7.5 8 | 30

34. This table demonstrates a Direct Variation relationship. Find the values of X and Y.

XY

=51 ~13.5 la) Find the value of xif y = 35.1  b) Find the value of y if x = 33
2 |5.4

21 156.7

35. The amount of money you spend on gas varies directly with the number of gallons you purchase. You spent

$46.80 on 15 gallons of gas.
a) State the variation constant, include units.

b) Write a direct variation equation. Define your variables.
¢) How much will you spend if you purchase 24.5 gallons of gas?
d) How many gallons could you purchase with $25.747



Algebra 2  Review Test #1 ANSWERS Fall 2015

1. y=2x-5 2.£L5-K+YOR£:—%‘LQX 00

3. w C#=0,W=0

4. MO orR =20 girsoor-T-d=00rd%-T

5 y>-3 6. All Real Numbers 7. No Solution

8. x>10 9. No Sol 10. -1 <m< 5 11. H<2

12. Allreal numbers 13. M<0 OR M2=2 14. No  15. Yes

16. Yes 17.No 18. D: {3,4,8y R:{-6,1,2,3y 19.D:x>-2 R -5<y<-2,y21
20. a) Point-Slope Form: y—17 = 4(x~2)ory—5=4(x+1)  Slope-Intercept Form y = 4x+9
b) x=3 c) y=-4

21. @) y—3=4(x+2) ory=4x+11 b) y-1 =—%(x-—8) Ory=—%x+3
22.x=—L43——,—223— 23. x<-27 or x>13 24, -2<x<9 25. x=——§—
26. —121 = 8.5 27. 32 28. -1 20 x2 —8x+15

8x + 13 15x + 38
30 4513 3. 5774

32. a) No b) No c) Yes
33. a) Yes, it is Direct Variation. k = -1.25 EQ: y = -1.25x or 2 = -1.25
b) No, it is not Direct Variation c) No, it is not Direct Variation
34, a) x=13 b) y=289.1
35. a) $3.12/gal b) y=3.12x or % = 3.12 y=total $ spent, x=# of gallons of gas purchased

c) $76.44 d) 8.25 gallons



